
94-2500-144-11/20151002

LISTA DE COMPONENTES - PARST LIST - ELENCO DI COMPONENTI

1x

1

M6x65 mm Ø6.5 mm

8x

8x

M6x1.0 mm

8x

12x

1x

2x

8x

2x1x

1x

8x

Ø6.5 mm

TCB0004
ES IT

O50mm

> 65mm 

4

Made in Taiwan

EC Approval / 
e13*74 / 483*2007 / 15*6064*02

Homologación CE

2x

2x
1x

3x

2x

4x
M6x45mm

6.5x13mm

7-pin

INSTRUCCIONES DE MONTAJE
USER MANUAL

ISTRUZIONI DI MONTAGGIO

GB



2

x8

Ø6.5 mm
x8

Ø6.5 mm
x8

M6x1.0 mm
x8

M6x65 mm
x8

x1

x2

x2

x4



M6x45mm

6.5x13mm
x2

x2

x2

x2

x2

3



19mm

4

2

1

FIJACIÓN AL ENGANCHE - MOUNTING ON THE TOWBALL - FISAGGIO AL GANCIO



19mm
2

1

5



7-pin

x3

COLOCACIÓN DE LAS BICICLETAS - MOUNTING THE BIKES - SINTEMAZIONE DELLE BICICLETTE

1

MIN ( 21” / 53 cm)
MAX ( 47” / 119 cm)

2

3

4

5

6

x3



31

42

3

1

42

3

x3

x3

7



3

x3

1

42

8

x2

= 1x 15kg MAX

= 2x 15kg MAX

= 3x 15kg MAX
= 4x 15kg MAX

S M XLL

3
4

2
1



9

2

1

3



10



ENGANCHES Y REMOLQUES ARAGÓN S.L.
Pol. Ind. Malpica, Calle B, Nº 77
50016 - ZARAGOZA (ESPAÑA)
Tel.: 976 457 130 - 902 457 130  /  Fax: 976 457 131
www.towcar.es

Safety warnings
READ CAREFULLY BEFORE USING:

11

GB

The driver is the only responsible for the correct mounting of the device,it has to be in a perfect ESTATE and well fastened on 
the towball. Those advices aren’t limited and they don’t exempt you to follow the basic prudence and common sense rules. If 
you detect any fault in the product, please contact to your distributor before any use.

Read carefully the fitting instructions before mounting the bike carrier Towcar.

For a proper working, apply a polish remover on the towball so that the device can keep well attached.

Check the proper working of the lights before start driving.

Check the proper tightening of the carried bicycles, it’s needed to remove all the accesories and the aditional devices of the 
bicycle to avoid to lose them.

Keep the stripes in a proper condition. Do not use them for any other purpose or with any other fixing systems. Don’t leave the 
strips loose.

The bicycles must be uniformly placed on the bike carrier and the closest to the vehicle.

The tyres of the bicycle must keep away from the exhaust of the vehicle so that the hot gases don’t damage them.

Check that any metal part of the bicycle touches the bodywork.

The  bicycle carrier has to be locked while driving.

Please note that, the driving conditions change when a bicycle carrier Towcar is being used on the towball. The inertia force 
and the center of gravity change and for those reasons you must adapt your way of driving to the new circumstances. Special 
care on curves, during manoeuvre of braking and while driving backwards.

Traffic rules must always be followed and speed limits respected, even when the driver is the only responsible for adapting the 
driving to a secure way knowing the extra load carried behind the vehicle. The speed can never exceed the 110 Km/h.

Don’t use the bike carrier on unpaved road because the vehicle and bikecarrier itself can ge damaged.

The bike carrier is prepared for a certain net load. You must check the maximum vertical load of your towbar and never exceed 
it.

According to the spanish normative in force, your bicycle carrier can’t exceed the width of the vehicle and also not exceed the 
lenght of the vehicle more than the 15% of the vehicle itself.

In Spain is also obligatory to put an homologated V20 plate on a visible place. To follow the rules of each contry is a duty of 
the driver. We suggest to remove the bicycle carrier after using, so that you can’t catch by surprise any distracted pedestrian 
or driver.

The bicycle carrier Towcar is a product designed and commercialiced by Enganches y remolques Aragón S.L

Any kind of change,transformation or alteration on any of our products It’s strictly forbidden and its breach would suppose the 
annulment of the approval and the guarantee of the products.

Enganches y Remolques Aragón S.L. offers a two years guarantee on its products from the date of delivery and it’s limited to 
a product replacemet and won’t necer cover any consequential damages

Enganches y Remolques Aragón S.L. is not responsible for any damage caused by any reckless use, overloading or break-
down caused by external agent ( blow, accident...), and breach of conditions of use.



12


